
Fasteners Recommended on 
Concrete Surface:
- Wedge anchor 3/8”x4”

General Notes:

- The installed glass thickness must be 1/2” or 12mm and must be
   safety tempered.
- Recommendation is for hardware components only. Mounting the
   post to the base structure is a site condition and the installers must
   ensure that the fasteners are strong enough to resist the design
   weight.
- The base material to which the posts are being mounted must resist
   the design weight.

Glass Panel Height (Max.): 39 ³/₈”
W (Glass Width): 26” Minimum
X= 36” Maximum
Y= 6” Minimum - 9” Maximum

Set screws for 
the spigot level 

adjustment

On Wood Surface:
- Lag bolt 3/8”x5”
- Optional: 3/8” thru-bolt or
  threaded rod with flat
  washers  and nuts

Glass Panel:
1000mm
39 ³/₈”

60mm
2 ²³/₆₄”

A

Detail A

Elevation

Top View

70mm
2 ³/₄”

70mm
2 ³/₄”

100mm
4”

100mm
4”

200mm
7 ⁷/₈”

11mm
⁷/₁₆”

Base
Plate:
1mm

    W (Inches)          X (Inches)     Y (Inches)       No. of Spigots

72                        27 9                      3

60                        22 8                      3

48                        32 8                      2

36                       22 7                     2

26                       14 6                     2



Fasteners Recommended on 
Concrete Surface:
- Wedge anchor 3/8”x4”

General Notes:

- The installed glass thickness must be 1/2” or 12mm and must be
   safety tempered.
- Recommendation is for hardware components only. Mounting the
   post to the base structure is a site condition and the installers must
   ensure that the fasteners are strong enough to resist the design
   weight.
- The base material to which the posts are being mounted must resist
   the design weight.

Glass Panel Height (Max.): 1000mm
W (Glass Width): 26” Minimum
X= 36” Maximum
Y= 6” Minimum - 9” Maximum

Set screws for 
the spigot level 

adjustment

100mm 74mm
2 ²⁹/₃₂”

74mm
2 ²⁹/₃₂”

8.5mm
²¹/₆₄”

160mm
6 ¹⁹/₆₄”

20.5mm
¹³/₁₆”

4”

100mm
4”

On Wood Surface:
- Lag bolt 3/8”x5”
- Optional: 3/8” thru-bolt or 
threaded rod with flat 
washers  and nuts

Glass Panel:
Max: 1000mm
          39 ³/₈”

60mm
 2 ²³/₆₄”

A

Detail A
Base
Plate:
1mm

    W (Inches)          X (Inches)     Y (Inches)       No. of Spigots

72                        27 9                      3

60                        22 8                      3

48                        32 8                      2

36                       22 7                     2

26                       14 6                     2

6”


	SPI-8SA
	SPI-6SA

